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QUESTION 1

Which protocol is used to signal the status of the active links between the PE and the CE in MC- LAG?
A. MSTP

B. MCLAG

C. LACP

D. DHCP

E. A proprietary protocol

Correct Answer: C

QUESTION 2

If the command "disable-learning” has been added at the VPLS level, then MAC entries which have already been
learned will not be aged.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 3

When ports configured with IEEE 802.3ah EFM are operationally down, what must the device do before declaring the
ports are up?

A. The device will try to force the other side up using the evaluating flag in the PDU.

B. The device will wait for the trasmit-interval of 5 before trying to rediscover the neighbor.
C. The device will detect the port change and will wait for normal operation mode.

D. The device will detect the port change and revert to discovery mode.

Correct Answer: D

QUESTION 4
Which element of IEEE 802.1ag is responsible for initiating CFM messages?
A. MEP

B. MAP
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C. MIP

D. MUP

Correct Answer: A

QUESTION 5

Click on the exhibit below.

PElrserviceff vple 1 customer 1 m-vpls create
FEl>servicer>vpls# mesh-sdp 500:1 create
PEirservicerviplssmesh-sdp# exitc
PEl»servicervpls# no shutdoun
FEl»service>vplsf spoke-=dp 900:1 creace
PElrservice>vplssspoke-sdpi exit
PElr>service>vplsH# exic

PEl>serviceff vpls 100 customer 1 create
PEl:servicervpla$f mesh-sdp 500:100 create
PElrservice>vrls>mesh-sdpf exit
PElrservice>vplia® no shutdown
FEilrservicexvpls$# mesh-sdp 900:100 create
PElsservice>vplsf exitc

Given the following configuration, which service type will VPLS 1 and VPLS 100 be displayed as with the "show service
service-using" command?

A. VPLS 1 will be displayed as mVPLS and VPLS 100 will be displayed as VPLS.
B. VPLS 1 will be displayed as mVPLS and VPLS 100 will be displayed as uVPLS
C. VPLS 1 will be displayed as VPLS and VPLS 100 will be displayed as VPLS.
D. VPLS 1 will displayed VPLS and VPLS 100 will be displayed as uvPLS.

Correct Answer: A
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